
READ THIS MANUAL

KEEP THIS MANUAL FOR FUTURE REFERENCE. 

This manual is intended for installation and use. The pattern 

should be subject to the product you receive.

Do not use this product until you read and understand the 
instructions in this manual. 



WARNING:

This unit is intended for relaxation purposes only and should not be used 
in an attempt to treat any medical ailment.
Please note that should you have any medical condition, be under a health
professional or physicians care. Or should you have a medical device fitted
(eg Pacemaker etc.), you must consult a qualified medical practitioner
before using this massage system.

• Do not massage any part of the body that is painful, swollen, inflamed or 
   covered with skin irritation-consult your medical practitioner before use.

• The massage system should not be used during pregnancy.

• Do not at any time allow children to play on the chair or leave them 
   unsupervised in the same room with the chair.

• Never operate this appliance if it has a damaged cord or plug. Contact 
   your supplying retailer.

• Do not interfere with any part of the massage system or attempt to 
   dismantle or repair the unit in any way.

! DANGER

• Disconnect the electrical plug from the wall outlet before cleaning, 
   moving, servicing or when not in use for an extended period of time.

• Do not use this product if it is wet, in water, around water or any liquid.

• To prevent suffocation keep plastic bags away from children.

• Plug directly into a wall outlet. Do not use an extension cord, adapter or 
   surge protector.



PARTS AND ACCESSORIES

🅐 Vacuum-packed Sofa Bed Cover ＊1pc 🅑 Sofa Bed Frame ＊1pc

Please check and ensure all the things are in the package. Please feel 
free to contact us if something is not included. We will reply within 24
hours and try our best to solve it.

🅒 Iron Frame Decorative Sleeve CR & CL ＊2pcs 🅓 Outer Armrest Cover DR & DL ＊2pcs

🅔 Iron Frame R & L ＊4pcs 🅕 Footrest Frame ＊4pcs 

R1 L1

R2 L2

CR CL DR DL



🅤 Lumbar Pillow＊1pc

🅖 Footrest Cover ＊1pc 🅗 Rear Bracket＊1pc

🅙 Pad ＊4pcs

🅥 Pillow＊1pc

🅘 Armrest Cover ＊2pcs 🅚 Cup Holder ＊2pcs

🅛 Plastic Pipe ＊8pcs

🅡 Plastic Pipe ＊2pcs 🅢 Corner Brace ＊4pcs 🅣 Wrench ＊1pc

🅜 Screw M6*125 ＊8pcs 🅝 Screw M8*70 ＊6pcs

🅞 Screw M6*45 ＊6pcs 🅟 Washer ＊6pcs 🅠 Screw M6*16 ＊16pcs



ASSEMBLY INSTRUCTIONS
CAUTION:  At least two adults are required to safely assemble 
this recliner chair.
Other lifting attempts may risk back safety due to large and heavy part(s).

R1

R1

R2

R2

* NOTE: DO NOT tighten 
the screws completely until 
all the screws are fixed in the 
correct position.

R1

R2

1.

2.
 

Carefully unpack and place parts on a 
clean flat surface. 

Note that the lables on the iron frames R 🅔,
place them according to the labled arrow 
direction ( R2 to R1) and then attach 4 plastic 
pipes 🅛 between the frame with screws 🅜
as shown. 

Insert the screw: From R2 to R1.

                            From L2 to L1.

🅔
🅔

🅜
🅛

M6x125



R1

R1

R2

R2

3. Filp the iron frames R 🅔 and then 
attach corner braces 🅢 to the iron
frame R 🅔 with screws 🅠 as shown. 

* NOTE: DO NOT tighten 
the screws completely until 
all the screws are fixed in the 
correct position.

4. Refer to step 2 & 3 to install the 

iron frame L 🅔.

🅔

🅒

🅢

🅠 🅠M6x16

* NOTE: Align the cup holder
hole ① of       with the cup holder 
area ② of iron frame R 🅔. 

5. Cover the iron frame decorative
sleeve      on the iron frame R 🅔.

①

②

CR

CR

CR



7. Refer to step 5 & 6 to install the 

iron frame decorative sleeve        

and the outer armrest cover        .

🅓

Cover the outer armrest cover       
on the iron frame R.

* NOTE: After      is installed in place, 
   align and connect the velcro on the 
   bottom as shown.

6.

CR

DR

DR

DL

CL

DR

DR



8. Install the pads on the 
armrests as shown. 

🅙

🅙

9. Pick up the sofa bed frame 
and the sofa bed cover, 
align them as shown.
Stick the Velcro from the 
sofa bed cover to the sofa
bed frame.

🅐

🅑

🅐Seat🅐Backrest

🅑Backrest 🅑Seat

Tips: Handle the sofa 
bed frame with care 
and mind your hands.

Note: Slowly place the sofa bed frame inside the sofa bed cover, ensuring 
that all corners are gently aligned without poking or damaging the cover 🅐.



11. Attach the seat 🅐 to the armrest 
with 🅟 and 🅝, and the plastic 
pipe 🅡 to the armrest with 🅞.

12. Attach another armrest to 
the seat 🅐 with 🅟 and 🅝.
Attach the plastic pipe 🅡
to the armrest with 🅞. 

🅐Backrest
ⓐ

ⓑ

🅐Seat

🅐

🅒

* TIPS: Fold the backrest 🅐

  for easier installation as 

  shown.

* Note: Place the area ⓐ and 

   area ⓑ on the same side for

   installation.

* Note: DO NOT tighten all

  the screws completely.

10. Remove the velcro 
of the sofa bed seat. 🅐 Seat 🅐Backrest

🅡
🅞M6*45

M8*70

M8*70

🅝

🅝

🅟

🅟

🅡
🅞



13.  Stick the velcro of the seat 🅐, 

and then install the rear bracket 
on the armrests with 🅞. 

14. Stick the velcro of the footrest 
cover 🅖 onto the footrest 
frame 🅕. 

15. Attach the catsters on the armrests
to the plastic pipes 🅡 and then push 
the footrest to the seat bottom. 

🅗

* Note: Tighten all the screws 

   completely.

🅡

🅞

🅞

M6*45

🅖

🅕



16.  Install the armrest covers 
on the armrests as shown. 

17. Attach the lumbar pillow, the 
pillow and the cup holders.

18. Cover the back fabric. 
Assembly is complete. 

🅚

🅘

🅘

🅥
🅤



FOOTREST OPERATION

1. Pull out the handle of the footrest. 

2. Pull out the footrest. 

3. Raise the footrest. 



FOOTREST USAGE

The bottom of the footrest
can store some things（The 
things height should not 
exceed 10cm）.
The maximum load is 5KG.

4. Fix the footrest. 



BACKREST OPERATION

1. Push down the backrest.

2. Lay the backrest down to 
a 180 degree position.

3. Lift the backrest up, and 
when hearing 2 clicking 
sounds on both sides, 
the backrest is completely 
fixed in position. The 
backrest can be adjusted 
in 5 gears.

1

2

3

4
5

X2



CHAIR TO BED OPERATION

1. Unzip the backrest and expand
the iron frames.

2. Lay down the backrest 
to 180 degrees and pull
out the footrest.

3. Rasie and secure the footrest. Now take a break.



FOLD OPERATION

1. Pull up the handle of the footrest to lower the height of the footrest.

2. Push back the footrest
to the seat bottom.

3. Push back the backrest  
to 90 degrees.



4. Press the button at the bottom of the iron frame in the backrest to 
retract the iron frame as shown.

5. The sofa bed is restored to its 
initial position.

Fold Button



IMPORTANT SAFETY INSTRUCTIONS

When using this product, please take special notice of the following basic 

precautions: Read all instructions before using.

DANGER

WARNING

To reduce the risk of electric shock:

To reduce the risk of burns, fire, electric shock, 
or injury to people:

Always unplug this appliance from the electrical outlet immediately after using 
and before cleaning.

• The product should never be left unattended when plugged in. Unplug from 

   outlet when not in use, and before putting on or taking off parts.

• Do not operate under blanket or pillow. Excessive heating can cause fire, 

   electric, shock, or injury to people.

• Never operate the product if it has a damaged cord or plug, if it is not working 

   properly, if it has been dropped or damaged, or dropped into water. Return the 

   product to a service center for examination and repair.

• Use the product only for its intended use as described in this manual. Do not 

   use attachments not recommended by the manufacture.

• Close supervision is necessary when the product is used by, on, or near children, 

   invalids, or disabled people.

• Do not carry the product by supply cord or use cord as a handle.  

• Keep the supply cord away from heated surfaces.  

• Do not operate the product with the air openings blocked. Keep the air  

   openings free of lint, hair, and other similar items.  



• Never drop or insert any object into any openings of the product.  

• Do not use it outdoors.  

• Do not operate where aerosol (spray) products are being used or where oxygen 

   is being administered.  

• To disconnect, remove the plug from the electrical outlet.  

• Keep children away from extended foot support (or other similar parts ).  

• Connect this appliance to a properly grounded outlet only.




